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 C1 Exam Question on Autograph
The points A(1 , 7), B(20 , 7) and C(p , q) form the vertices of a triangle ABC, as shown. The point D(8 , 2) is the mid-point of AC. (a) Find values of p and q. 
The line l, which passes through D and is perpendicular to AC, intersects AB at E. (b) Find an equation for l in the form ax + by + c = 0.

(c) Find the exact coordinates of E
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 Open a new graph page
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 Use ‘Enter Coordinates’ to add points A, B and C (just use p and q!)
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 Select pairs of points in turn and each time ‘right click’ to enable ‘Line Segments’ to be added
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 Finally add D
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 Use the ‘Constant Controller’ to change both p and q until D is the mid-point of AB – as required! 
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 With only A and C selected ‘right click’ to enable ‘Perpendicular Bisector’ to be added (or add your answer to check it is correct!)
The equation is displayed in the:
[image: image9.png]Perpendicular Bisector: y=1.4x-9.2
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	Exam Solution (continue over!):


[image: image11.wmf] Write down working confirming the solutions obtained on Autograph
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